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Comprehension:

The following table represents the percentage expenditure of the annual income of six persons
A-T on six different items, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.
Based on the data in the table, answer the questions that follow.

Person-wise Expenditure Details

o Percentage (%) Expenditure from Annual Income on
Food Rent |Transport| Clothes |Entertainment| Miscellaneous
A 21.80% | 15.0% 18.4% 12.5% 13.3% 19.0%
B 17.20% | 18.0% 22.6% 15.0% 11.4% 15.8%
C 240% | 163% 14.8% 11.2% 7.8% 259%
D 18.0% | 195% 15.5% 12.0% 164% 18.6%
E 2020% | 164% 17.5% 14.0% 8.6% 233%
F 23.60% | 185% 16.0% 13.8% 11.0% 17.1%

SubQuestion No : 1
Q.1

If the annual income of each of the six persons is ¥ 3 lakh, then the amount of money spent on
clothes is more than ¥ 41800 by exactly _ persons.

1 2

(2)
)
(4)

Options 1. 1
2.2
3.3
4.4

Ul 2

Question Type : MCQ
Question ID : 53307217127
Option 11D : 53307266717
Option 2 ID : 53307266718
Option 3 ID : 53307266719
Option 4 ID : 53307266720

Status : Answered

Chosen Option : 2
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Comprehension:

The following table represents the percentage expenditure of the annual income of six persons
A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.
Based on the data in the table, answer the questions that follow.

Person-wise Expenditure Details

Peritin Percentage (%) Expenditure from Annual Income on
Food Rent |Transport| Clothes |Entertainment| Miscellaneous
A 21.80% | 15.0% 18.4% 12.5% 133% 19.0%
B 17.20% | 18.0% 226% 15.0% 11.4% 15.8%
C 24.0% | 16.3% 14.8% 11.2% 7.8% 25.9%
D 18.0% | 19.5% 155% 12.0% 16.4% 18.6%
E 20.20% | 164% 17.5% 14.0% 8.6% 23.3%
F 23.60% | 18.5% 16.0% 13.8% 11.0% 17.1%

SubQuestion No : 2

Q2 it the annual income of each of C and D is ¥ 840000, then what is the sum of the amount spent by
C on Rent and that by D on Miscellaneous items ?

(1) ¥ 288820
(2) T 290520
(3) T 293160
(4) T 295700
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :
Chosen Option :

MCcQ
53307217125
53307266709
53307266710
53307266711
53307266712
Answered

3
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Comprehension:

Peritin Percentage (%) Expenditure from Annual Income on
Food Rent |Transport| Clothes |Entertainment| Miscellaneous
A 21.80% | 15.0% 18.4% 12.5% 133% 19.0%
B 17.20% | 18.0% 226% 15.0% 11.4% 15.8%
C 24.0% | 16.3% 14.8% 11.2% 7.8% 25.9%
D 18.0% | 19.5% 155% 12.0% 16.4% 18.6%
E 20.20% | 164% 17.5% 14.0% 8.6% 23.3%
F 23.60% | 18.5% 16.0% 13.8% 11.0% 17.1%

(1)
(2)
(3)
(4)
Options 1. 1
2.2
3.3

4.4

¥ 18496
¥ 18828
T 19216
¥ 19488

SubQuestion No : 3

Q.3 If the annual incomes of B and C are ¥ 432000 and ¥ 528000, respectively, then what is the difference
between the amount spent by them on Transport ?

The following table represents the percentage expenditure of the annual income of six persons

A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.

Based on the data in the table, answer the questions that follow.
Person-wise Expenditure Details

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

McQ
53307217123
53307266701
53307266702
53307266703
53307266704
Answered

4
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Comprehension:

The following table represents the percentage expenditure of the annual income of six persons
A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.
Based on the data in the table, answer the questions that follow.

Person-wise Expenditure Details

Peritin Percentage (%) Expenditure from Annual Income on
Food Rent |Transport| Clothes |Entertainment| Miscellaneous
A 21.80% | 15.0% 18.4% 12.5% 133% 19.0%
B 17.20% | 18.0% 226% 15.0% 11.4% 15.8%
C 24.0% | 16.3% 14.8% 11.2% 7.8% 25.9%
D 18.0% | 19.5% 155% 12.0% 16.4% 18.6%
E 20.20% | 164% 17.5% 14.0% 8.6% 23.3%
F 23.60% | 18.5% 16.0% 13.8% 11.0% 17.1%

(1)
2
3)
4
Options 1. 1
2.2
3.3

4.4

SubQuestion No : 4

Q4 it the amount of money spent on food by C and D is ¥ 144000 and ¥ 172800, respectively, then the
annual income of C is % of the annual income of D.

47.5
60
62.5
120

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCcQ
53307217124
53307266705
53307266706
53307266707
53307266708
Answered

3
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Comprehension:

Peritin Percentage (%) Expenditure from Annual Income on
Food Rent |Transport| Clothes |Entertainment| Miscellaneous
A 21.80% | 15.0% 18.4% 12.5% 133% 19.0%
B 17.20% | 18.0% 226% 15.0% 11.4% 15.8%
C 24.0% | 16.3% 14.8% 11.2% 7.8% 25.9%
D 18.0% | 19.5% 155% 12.0% 16.4% 18.6%
E 20.20% | 164% 17.5% 14.0% 8.6% 23.3%
F 23.60% | 18.5% 16.0% 13.8% 11.0% 17.1%

(1)
2
3)
4
Options 1. 1
2.2
3.3
4.4

32.62
38.89
36.54
34.24

SubQuestion No : 5

money spent by A on Rent is

The following table represents the percentage expenditure of the annual income of six persons

A-F on six differentitems, namely, Food, Rent, Transport, Clothes, Entertainment and Miscellaneous.

Based on the data in the table, answer the questions that follow.
Person-wise Expenditure Details

Q5 gf the monthly income of A and D are ¥ 80000 and ¥ 72000, respectively, then the amount of
% more than the amount spent by D on clothes.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCcQ
53307217126
53307266713
53307266714
53307266715
53307266716
Answered

2
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Q.6 y s : .
Which of the following statements are logically equivalent ?
(A) Some non-dogs are non-friendly animals
(B) Some dogs are friendly animals
(C) Some friendly animals are dogs
(D) All dogs are friendly animals
Choose the correct answer from the options given below :
(1)  (B) and (C) Only
(2) (B) and (D) Only
(3) (A), (B) and (C) Only
(4) (A) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217150
Option 11D : 53307266809
Option 2 ID : 53307266810
Option 3 ID : 53307266811
Option 4 ID : 53307266812
Status : Answered
Chosen Option : 3
Q7 Which of the following statements are true regarding contrary propositions ?
(A) They cannot both be true
(B) They cannot both be false
(C) They can both be false
(D) If one is true the other must be false
Choose the correct answer from the options given below :
(1) (B) and (C) Only
(2) (A),(B) and (C) On'ly
(3) (A), (C) and (D) Only
(4) (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217149
Option 1 ID : 53307266805
Option 2 ID : 53307266806
Option 3 ID : 53307266807
Option 4 ID : 53307266808
Status : Answered
Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/2...  6/88
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Qs A sum of money is equally divided among a number of children. Had there been 10 children less,
each would have received ¥ 5 more, and had there been 10 children more each would have received
T 3 less. What is the sum of money that is distributed ?

(1) 300
(2) 600
(3) 750
4) 900
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217143
Option 1 ID : 53307266781
Option 2 ID : 53307266782
Option 3 ID : 53307266783
Option 4 ID : 53307266784
Status : Answered
Chosen Option : 2
Qs According to Marshal McLuhan, examples of high definition media are :
(A) Speech
(B) Photograph
(C) Radio
(D) Cinema
(E) Cartoon
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), () and (D) Only
(3) (©), (D) and (E) Only
(4) (A), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217140
Option 1 ID : 53307266769
Option 2 ID : 53307266770
Option 3 ID : 53307266771
Option 4 ID : 53307266772
Status : Answered
Chosen Option : 4
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Q.10 Two researchers obtain similar results while investigating a problem following different
methodologies. Their measurements show :
(1) Interrater validity
(2) Convergent validity
(3)  Construct validity
(4)  Test-Retest validity

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217134
Option 1 ID : 53307266745
Option 2 ID : 53307266746
Option 3 ID : 53307266747
Option 4 ID : 53307266748
Status : Answered
Chosen Option : 2
QM nobile games were the first to popularize which uses an image of an actual place or
thing and adds digital information to it.
(1) Virtual Reality
(2) Augmented Reality
(3) Mixed Reality
(4) Computer-Aided Design (CAD)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217153
Option 11D : 53307266821
Option 2 ID : 53307266822
Option 3 ID : 53307266823
Option 4 ID : 53307266824
Status : Answered
Chosen Option : 1
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Q12 [ 4 certain coding language, the word “TRAIN' is coded as *VPCGP’, then the word ‘PROUD’ will

be coded as :
(1) QSPVE
(2) RPQSF
(3) RQPTF
(4) RQQSE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217146
Option 1 ID : 53307266793
Option 2 ID : 53307266794
Option 3 ID : 53307266795
Option 4 ID : 53307266796
Status : Answered
Chosen Option : 2
Q13 Which of the following are advantages of e-commerce for consumers ?
(A) They save time by visiting websites instead of stores.
(B) They have little risk of having their credit card number intercepted.
(C) They can choose goods from any vendor in the world.
(D) They can shop no matter their location, time, or conditions.
Choose the correct answer from the options given below :
(1) (A) and (D) Only
(2) (B) and (C) Only
() (A), (C) and (D) Only
4 (A), (B) (©) and (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217156
Option 1 ID : 53307266833
Option 2 ID : 53307266834
Option 3 ID : 53307266835
Option 4 ID : 53307266836
Status : Marked For Review
Chosen Option : 3
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Q.14

(A)
(B)
(©
(D)
(E)

(1)
(2)
(3)
(4)
Options 1. 1
2.2

3.3
4.4

The New Education Policy of 2020, suggested degree courses in :

Development Communication
Logic

Art and Museum Administration
Graphic Design

Web Design

Choose the correct answer from the options given below :

(A), (B) and (C) Only
(), (C) and (D) Only
(C), (D) and (E) Only
(B), (D) and (E) Only

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217166
53307266873
53307266874
53307266875
53307266876
Answered

3
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Q.15

Identify the non-probability sampling techniques :
(A) Systematic sampling

(B) Simple random sampling

(C) Snowball sampling

(D) Purposive sampling

Choose the correct answer from the options given below :

(1) (A)and (B) Only
(2) (€) and (D) Only
(3) (A), (C) and (D) Only
(4) (A), (B) and () Only

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217136
Option 1 ID : 53307266753
Option 2 ID : 53307266754
Option 3 ID : 53307266755
Option 4 ID : 53307266756
Status : Answered
Chosen Option : 2
Q.16 ; . : ; o
Ferdinand de Saussure’s approach to the study of signs is described as :
(1) Semiology
(2) Semantics
(3) Signification
(4) Signifying system
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217139
Option 1 ID : 53307266765
Option 2 ID : 53307266766
Option 3 ID : 53307266767
Option 4 ID : 53307266768
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...
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Q.17 7 pumps, working 10 hours a day, can empty a tank in 20 days. How many hours a day must 5
pumps operate to empty the tank in 14 days ?

(1) 20 hours

(2) 18 hours

(3) 16 hours

(4) 14 hours
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307217147
Option 1 ID : 53307266797
Option 2 ID : 53307266798
Option 3 ID : 53307266799
Option 4 ID : 53307266800

Status : Answered

Chosen Option : 3

ae Find out the correct chronological order of the fD]lcleng :

(A) First binary computer by Britishers

(B) Printing press

(C) Plan for mechanical computer

(D) Single-screen motion picture exhibition

(E) First public broadcast of television

Choose the correct answer from the options given below :
(1) (A, (©), E), (D) (B)

(2 (B), (C) (D), (B), (A)

() (©), (E) (A) (B), (D)

4) (D) (A) (B), (O (E)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217141
Option 1 ID : 53307266773
Option 2 ID : 53307266774
Option 3 ID : 53307266775
Option 4 ID : 53307266776

Status : Answered

Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...  12/88
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(1)
@

Q.19 A relationship in which aless-experienced learner acquires knowledge and skills under the guidance
of an expert is known as :

Cloud computing
Cognitive load

(3) Cognitive apprenticeship
(4) Collective monologue
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217128
Option 1 ID : 53307266721
Option 2 ID : 53307266722
Option 3 ID : 53307266723
Option 4 ID : 53307266724
Status : Answered
Chosen Option : 4
Q.20 ; ; :
The Indian Institute of management, Indore, was set up during :
(1) Eighth five year plan
(2) Ninth five year plan
(3) Tenth five year plan
(4) Eleventh five year plan
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217164
Option 1 ID : 53307266865
Option 2 ID : 53307266866
Option 3 ID : 53307266867
Option 4 ID : 53307266868
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...
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Q.21 An Internet standard that allows for adding media attachments to an email is called :

(1) MIME
(2) DHCP
(3) HDMI
(4) FTP

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217154
Option 1 ID : 53307266825
Option 2 ID : 53307266826
Option 3 ID : 53307266827
Option 4 ID : 53307266828

Status : Answered

Chosen Option : 1

Q22 4 marketing instructor wants to engage students by conducting live polls during an online lecture
to gather instant feedback on marketing strategies. Which of the following tools should the instructor
use for creating and displaying polls ?

(A) Adobe Hlustrator

(B) Slido

(C) Straw Poll

(D) Camtasia

(E) Flipgrid

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

20 (A) and (D) Only

(3] (B) and (C) Only

@) (©), (D) and (E) Only

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307217131
Option 1 ID : 53307266733
Option 2 ID : 53307266734
Option 3 ID : 53307266735
Option 4 ID : 53307266736

Status : Answered

Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...
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Q.23 which of the following arguments is fallacious because of the middle term being too narrow ?

(1)  All things are non-eternal because they are knowable
(2) Sound is eternal, because it is audible
(3)  Fire is cold because it is substance
(4)  Wherever there is fire, there is smoke

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217152
Option 1 ID : 53307266817
Option 2 ID : 53307266818
Option 3 ID : 53307266819
Option 4 ID : 53307266820

Status : Answered

Chosen Option : 3

Q24 i (L) represents a number L in base-M number system, then identify the correct ascending order
of the following numbers A-D when converted to decimal number system.

(A) (102),

(B) (10001),

© (103

(D) (200),

Choose the correct answer from the options given below :
(1) (B), (A) (©. (D)
(2} (A) (©), (D), (B)
(@) (&), (B (D). (©
4)  (B), (A) (D), (Q
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307217157
Option 1 ID : 53307266837
Option 2 ID : 53307266838
Option 3 ID : 53307266839
Option 4 ID : 53307266840

Status : Answered

Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...
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Q.25 : : i 5 .
The etic approach to communication is ___in character.
(1) Restrictive
(2) Mechanical
(3) Universal
(4) Non-cultural
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217138
Option 1 ID : 53307266761
Option 2 ID : 53307266762
Option 3 ID : 53307266763
Option 4 ID : 53307266764
Status : Answered
Chosen Option : 3
Q.26 2 :
Which of the following are the sub-types of long term memory ?
(A) Episodic memory
(B) Semantic memory
(C) Procedural memory
(D) Priming
(E) Class conditioning effects
Choose the correct answer from the options given below :
(1) (A), (B), (©), (D) and (E)
(2) (B), (D) and (E) Only
(3) (A), (B) and (C) Only
(4) (C), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217130
Option 1 ID : 53307266729
Option 2 ID : 53307266730
Option 3 ID : 53307266731
Option 4 ID : 53307266732
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...
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ez An IT giant company has its Global Education Centre at :
(1) Medak
(2) Rainagiri
(3) Mysore
(4) Agartala
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217163
Option 1 ID : 53307266861
Option 2 ID : 53307266862
Option 3 ID : 53307266863
Option 4 ID : 53307266864

Status : Answered

Chosen Option : 3

Q.28 Which fallacy is committed in the following argument-“Ambassador cars have almost disappeared.
This is an ambassador car. Therefore, this car has almost disappeared” :

(1) Equivocation

(2) Fallacy of Division
(3) Hasty Generalization
(4) Slippery Slope
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307217148
Option 1 ID : 53307266801
Option 2 ID : 53307266802
Option 3 ID : 53307266803
Option 4 ID : 53307266804

Status : Answered

Chosen Option : 3
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Q.29 Who among the following ancient scholars was a proponent of grammarian tradition ?

(1) Ishwarkrishna
(2) Bhartrhari
(3) Gautama
(4) Kanada

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217167
Option 1 ID : 53307266877
Option 2 ID : 53307266878
Option 3 ID : 53307266879
Option 4 ID : 53307266880

Status : Answered

Chosen Option : 3

Q.30 The union government of India had in 2011 decided to establish a National Institute of Design in
the states of :

(A) Andhra Pradesh

(B) Kerala

(C) Assam

(D) Goa

(E) Haryana

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

) (B), (C) and (D) Only

(3)  (A), (C) and (E) Only

(4) (D) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217165
Option 11D : 53307266869
Option 2 ID : 53307266870
Option 3 ID : 53307266871
Option 4 ID : 53307266872

Status : Answered

Chosen Option : 1
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(&)
(B)

(©)

(D)

(O]

Q.31 Match List - T with List - IL.

List - 1 List - II

(Malware) (Definition)

Ransomware  (I)  Software that monitors and/or records the actions of targeted users.

Spyware (II) A small piece of code that misleads users of its true intent by disguising
itself as a legitimate program and infects your computer when you
Tun it.

Worm (III) Software that locks data files and demands a monetary payment in

exchange for unlocking.

Trojan Horses  (IV) A piece of code that replicates itself to other devices without user

interaction

Choose the correct answer from the options given below :
(A)-(1D), (B)-(1), (O)-(IV), (D)D)

(2) (AR, (B)-(IV), (O)-(), (D)-(IT)
(3} (AHI), (BRI, (O(L), (D)-(1V)
(4) (A, (B)-(D), (O-(IV). (DRID
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217155
Option 1 ID : 53307266829
Option 2 ID : 53307266830
Option 3 ID : 53307266831
Option 4 ID : 53307266832
Status : Answered
Chosen Option : 4
Q.32 b 3. ; ;
What is the mission of International Solar Alliance ?
(1) Every home no matter how far will have electricity
(2) Every home will harvest solar energy
(3) Every home no matter how far away will have light at home
(4) Every home has to be carbon neutral
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217158
Option 1 ID : 53307266841
Option 2 ID : 53307266842
Option 3 ID : 53307266843
Option 4 ID : 53307266844
Status : Answered
Chosen Option : 2
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Q33 Amount of destruction caused by an earthquake is measured by :
(1) Richter Scale
(2) Intensity Scale
(3) Magnitude Scale
(4) Mercalli Scale
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217159
Option 1 ID : 53307266845
Option 2 ID : 53307266846
Option 3 ID : 53307266847
Option 4 ID : 53307266848
Status : Answered
Chosen Option : 1
Q.34  An English teacher asks students to create a multimedia presentation analysing a novel’s themes,
characters, and literacy devices. Which assessment method is most suitable to check the real time
progress of students ?
(1) Authentic Assessment
(2) Summative Assessment
(3) Norm-referenced Assessment
(4) Ipsative Assessment
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217132
Option 1 ID : 53307266737
Option 2 ID : 53307266738
Option 3 ID : 53307266739
Option 4 ID : 53307266740
Status : Answered
Chosen Option : 4
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Q.35 2 : o :
Identify the parametric tests used for statistical analysis.
(A) ttest
(B) H-test
(C) F-test
(D) U-test
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (B) and (C) Only
(3) (C) and (D) Only
4) (A)and (C) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217137
Option 1 ID : 53307266757
Option 2 ID : 53307266758
Option 3 ID : 53307266759
Option 4 ID : 53307266760
Status : Answered
Chosen Option : 1
Q.36 \Which of the following is not a disease caused due to exposure of Ultra Violet (UV)-rays, one of the
Environmental hazards due to ozone layer depletion ?
(1) Melanoma
(2) Erythema
(3) Teratoma
(4) Carcinoma
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217161
Option 1 ID : 53307266853
Option 2 ID : 53307266854
Option 3 ID : 53307266855
Option 4 ID : 53307266856
Status : Answered
Chosen Option : 2
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0
2
(3)

Increases
Decreases
Remains unchanged

Q37 Bocause of Biochemical Oxygen Demand (BOD), Dissolved Oxygen (DO) of a water body :

(4) Initially increases and then decreases
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217162
Option 1 ID : 53307266857
Option 2 ID : 53307266858
Option 3 ID : 53307266859
Option 4 ID : 53307266860
Status : Answered
Chosen Option : 2
Q.38 g ; i
Find out the wrong term from the given series :
125, 126, 124, 127,125, 129
(1) 126
(2) 124
(3) 123
(4) 129
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217144
Option 1 ID : 53307266785
Option 2 ID : 53307266786
Option 3 ID : 53307266787
Option 4 ID : 53307266788
Status : Answered
Chosen Option : 4
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Q39 Which of the following are arranged in the order of increasing connotation ?
(1) Vertebrates, mammals, canine, labradors
(2) Mammals, vertebrates, canine, labradors
(3) Canine, labradors, mammals, vertebrates
(4) Labradors, canine, mammals, vertebrates
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217151
Option 1 ID : 53307266813
Option 2 ID : 53307266814
Option 3 ID : 53307266815
Option 4 ID : 53307266816
Status : Answered
Chosen Option : 2
Q.40 o .
Match List - I with List - 1L
List - I List - II
(Authors) (Concepts)
(A) Roland Barthes () Doxa
(B) Pierre Bourdieu () Hegemony
(C) Antonio Gramsci (II) Simulation
(D) Jean Baudrillard (IV) Myth
Choose the correct answer from the options given below :
(D) (A, (B)-(I), (O)-(I), (D)-(IV)
(@ (A1, (B)-(1D, (C)-V), (D))
(3) (A)-(IL), (B)-(IV), (C)=(1), (D)-(11)
() (AHIV), (BID), (©-(I), (D))
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217142
Option 1 ID : 53307266777
Option 2 ID : 53307266778
Option 3 ID : 53307266779
Option 4 ID : 53307266780
Status : Answered
Chosen Option : 4
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Q.41 If the selling price of ¥ 276 results in a discount of 8% on the marked price of an item, at what price
should the item be sold to offer a discount of 13% ?
(1) T 265
(2) T 251
(3) T 257
4) %261
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217145
Option 1 ID : 53307266789
Option 2 ID : 53307266790
Option 3 ID : 53307266791
Option 4 ID : 53307266792
Status : Answered
Chosen Option : 1
Q.42 . ; < : ;
Identify the main preoccupations of qualitative researchers.
(A) Emphasis on process
(B) Emphasis on generalization
(C) Emphasis on context
(D) Emphasis on description
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (B) and (D) Only
(4) (A), (C) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217133
Option 1 ID : 53307266741
Option 2 ID : 53307266742
Option 3 ID : 53307266743
Option 4 ID : 53307266744
Status : Answered
Chosen Option : 3
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Q.43

(A)
(B)
(©)
(D)

(H)

(2)

(3)

(4)
Options 1. 1
2.2

3.3
4.4

Match List - I with List - I1.

List - I List - 11
(Abbreviations) (Meaning)
ante., (I)  here and there
ct. (II) and others
et.al., (III) compare
passim: (IV) before

Choose the correct answer from the options given below :

(A)-(IV), (B)-(IIT), (C)-(11), (D)-(I)
(A)-(II), (B)-(IV), (©)-(T), (D)-(I)
(A)-(1D), (B)-(I1D), (C)-(IV), (D)-(I)
(A)-(1), (B)-(I), (C)-(IMI), (D)-(IV)

Question Type
Question ID
Option 1 ID
Option 2 ID

:McQ
: 53307217135
: 53307266749
: 53307266750
Option 31D :
Option 4 ID :
Status :
Chosen Option :

53307266751
53307266752
Answered

3
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Q.44 , : ;
Which of the following are consequences of Global Warming ?
(A) Change in Hydrological Cycle
(B) Species Migration
(C) Change in Ocean Circulation
(D) Ocean Acidification
(E) Sealevelrise
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2) (A), (C) and (D) Only
(3) (B), (C) and (D) Only
(4) (A, (B), (O), (D) and (E)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217160
Option 1 ID : 53307266849
Option 2 ID : 53307266850
Option 3 ID : 53307266851
Option 4 ID : 53307266852
Status : Answered
Chosen Option : 4
Q.45 The contents of swayamprabha channel - 15 with the theme of ‘Capacity Building and Teacher
Education’ is provided by :
(1) CEC, New Delhi
(2) T Delhi
(3) IGNOU, New Delhi
(4) UT Kanpur
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217129
Option 1 ID : 53307266725
Option 2 ID : 53307266726
Option 3 ID : 53307266727
Option 4 ID : 53307266728
Status : Answered
Chosen Option : 1
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Q.46

Comprehension:

Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units.

SubQuestion No : 46

What does folklore contribute to public discourse ?

(1)
(2)
(3)
(4)

Options 1. 1

2.2
3.3
4.4

It creates a public space for stress-free interaction
It restricts the expression of ideas and values

It promotes only traditional values

[t eliminates modern influences

Question Type : MCQ
Question ID : 53307217170
Option 1 ID : 53307266885
Option 2 ID : 53307266886
Option 3 ID : 53307266887
Option 4 ID : 53307266888

Status : Answered

Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units.

SubQuestion No : 47

Q47 What influences the tranformations that can be observed in public sphere ?
(1)  Multi-level interests of performers and patrons
(2) A static set of rules
(3)  The absence of economic and philosophical ideas
(4) Simple pleasure orientation
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :

MCQ
53307217172
53307266893
53307266894
53307266895
53307266896
Answered

4
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Comprehension:

Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units.

SubQuestion No : 48

Q.48
Role of folklore in the society is :
(1) To provide entertainment only
(2) To generate and observe broader social value
(3) To restrict public discourse
(4) To resist social change
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307217169
53307266881
53307266882
53307266883
53307266884
Answered

2
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Comprehension:

Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units.

SubQuestion No : 49

Q.49 What is the influence of modernity on folk traditions and public space according to the text ?
(1) Folk traditions are disappearing.
(2) It has no effect on ancient tradition.
(3) It only leads to conflicts without resolution.
(4) It makes social changes more acceptable.
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCQ
53307217171
53307266889
53307266890
53307266891
53307266892
Answered

4
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Comprehension:

Read the following passage and answer the questions.

Folk traditions provide and create a public space where some broader social values could be
generated and observed. The various folk genres through the creation of public space help in
bringing and observed. The various folk genres through the creation of public space help in bringing
into focus ideas, values and contentions into public discourse, a kind of unshackling of inhibitions
in a stress-free manner. The changes that modernity brings in its wake become more socially
acceptable and the conflicts that are created find a medium through which they can be resolved.
This public space or sphere has many constructive and pleasurable uses. Politics and religion are
notable instances in which the creation and sustenance of public space or sphere is very important
to achieve some agenda(s). The dynamism ingrained in public space or sphere shows complex
nuances and many trends especially when the nature of transformation is being analysed. There
seems to be a shift from a simple pleasure orientation to cater to multi-level interests of the performers
and patrons. Transformations are influenced by economics, politics and voices of dissent that find
various mechanisms of appropriation of public space for their own objectives. They widen the
base of debate and discussion transcending the involved units.

SubQuestion No : 50

Q.50 ‘
Public space :
(1) Widens the base of debate and discussion
(2) Ignores traditional knowledge system
(3) Insists more on individual growth
(4) Leads to suppression of human values
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307217173
53307266897
53307266898
53307266899
53307266900
Answered

1
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Q.51 United States of America is still the “Sole Super Power” of the world.
(A) Best and brightest of the world prefer to migrate to America
(B) American dream is still intact
(C) USA is the most indebted country of the world
(D) Global surplus capital gets accumulated in the USA
(E) USA still is the Global leader in the development of new innovative technology
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2 (A), (B), (C) and (D) Only
()  (A). (B), (D) and (E) Only
4 (A), (B), (O), (D) and (E)
Options 1. 1
2.2
Vv
4.4

Question Type : MCQ
Question ID : 53307217216
Option 1 ID : 53307267069
Option 2 ID : 53307267070
Option 3 ID : 53307267071
Option 4 ID : 53307267072

Status : Answered

Chosen Option : 4

Q.52 According to the Election Commission for being considered as a national party, a political party
should atleast have which of the following qualification ?

(A) It should be recognised as a state-level party in four or more states

(B) In General Elections the party must manage to win six percent of the votes and win atleast
four Lok Sabha seats

(C) It has to win a minimum of two percent of the seats in the Lok Sabha from atleast three
different states

(D) The state party plays a vital role in regional political system in India
(E) It should be recognised as local level party in seven or more states
Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2)  (A), (B) and (C) Only

@) (A), (B), (C) and (D) Only

() (A (B), (C) and (E) Only

Options 1. 1
2.2

v

4.4

Question Type : MCQ
Question ID : 53307217238
Option 1 ID : 53307267157
Option 2 ID : 53307267158
Option 3 ID : 53307267159
Option 4 ID : 53307267160

Status : Answered

Chosen Option : 2
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Q.53 Arrange chronologically the following International Organisations :

(A) World Trade Organisations (WTO)

(B) North Atlantic Treaty Organisation (NATO)

(C) International Monetary Fund (IMF)

(D) G-20

(E) South Asian Association for Regional Cooperation (SAARC)
Choose the correct answer from the options given below :

1) (©), (B) (A), ®), D)

@ (©), (B), (B), (A), D)

(@) (B), (O () (A), D)

4) (©), (B), (D), (A), (E)

Options 1. 1
.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217211
Option 1 ID : 53307267049
Option 2 ID : 53307267050
Option 3 ID : 53307267051
Option 4 ID : 53307267052
Status : Answered
Chosen Option : 3
Q.54 paional Choice Theory’s impact on Public Administration has been strongly felt in the areas such
as:
(A) Organization Behaviour
(B) Local Government
(C) Public Service Delivery
(D) Theory of Democratic Administration
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
) (A), (B) and (D) Only
@) (A)and (C) Only
(4)  (B) and (C) Only
Options 1. 1
v
3.3
4.4
Question Type : MCQ
Question ID : 53307217255
Option 1 ID : 53307267225
Option 2 ID : 53307267226
Option 3 ID : 53307267227
Option 4 ID : 53307267228
Status : Answered
Chosen Option : 2
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Q.55 Who contended that “we are concerned only with finding a choice mechanism that will lead it to
pursue a “satisficing” path, a path that will permit satisfaction at same specified level of all of its
needs” ?

(1)  Mary Parker Follett
(2) Chester Barnard
(3) Max Weber

(4) Herbert Simon

Options 1. 1
2.2

3.3
Ve

Question Type : MCQ
Question ID : 53307217253
Option 1 ID : 53307267217
Option 2 ID : 53307267218
Option 3 ID : 53307267219
Option 4 ID : 53307267220
Status : Marked For Review
Chosen Option : 1

Q.
> Who has propounded the concept of “Power Elite” ?

(1) James Burnham
(2) C. Wright Mills
(3) Raymond Aron
(4) Karl Mannheim

Options 1.
"2

3.3
4.4

Question Type : MCQ
Question ID : 53307217202
Option 11D : 53307267013
Option 2 ID : 53307267014
Option 3 ID : 53307267015
Option 4 ID : 53307267016

Status : Answered

Chosen Option : 2
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Q.57
has given the concept of “Political Decay” ?

(1) Lucian W. Pye

(2) Samuel P. Huntington
(3) Sidney Verba

(4) Almond and Powell

Options 1.
.2

3.3
4.4

Question Type : MCQ
Question ID : 53307217204
Option 1 ID : 53307267021
Option 2 ID : 53307267022
Option 3 ID : 53307267023
Option 4 ID : 53307267024

Status : Answered

Chosen Option : 3

Q.58
° Who has given the concept of “Managerial Revolution” ?

(1) James Burnham
(2) C. Wright Mills
(3) Robert Michels

(4) Karl Mannheim

Optionl 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 53307217203
Option 1 ID : 53307267017
Option 2 ID : 53307267018
Option 3 ID : 53307267019
Option 4 ID : 53307267020

Status : Answered
Chosen Option : 3
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Q.59 Arrange the following states with respect of their year of formation in ascending order.
(A) Bihar
Rajasthan
C) Nagaland
) Gujrat
) Himachal Pradesh
Choose the correct answer from the options given below :

(B)
(
(D
(B

M (A (B) (©. D), (B)

@ (A, ©, (B) D), (B)

(B} (A (B), (©). (B), (D)

4 (©, (B) {D ). (E), (A)
Options 1. 1

2.2

/.

Question Type : MCQ
Question ID : 53307217245
Option 1 ID : 53307267185
Option 2 ID : 53307267186
Option 3 ID : 53307267187
Option 4 ID : 53307267188
Status : Answered
Chosen Option : 1
Q.60 What do political parties, pressure groups, public opinion, popular movements have in common ?
They are :
(1) Formal organisations of power
(2) Informal organisations of power
(3) Helping the governments of the day in governance
(4)  Existing only in democracies
Options 141
l 2
3.3
4.4
Question Type : MCQ
Question ID : 53307217177
Option 1 ID : 53307266913
Option 2 ID : 53307266914
Option 3 ID : 53307266915
Option 4 ID : 53307266916
Status : Answered
Chosen Option : 4
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(A) Karl Popper
(B) John Rawls
(C) C.B. Macpherson
(D) Robert Dahl
(E) Herbert Marcuse

1 @A), (B), ©, D) (B)
(2 (©, (E) (A), D), (B)
@) (B ©) (A) D) (B)
4 (D) (B) (A) (©) (B

Options 1.
d. 2

3.3
4.4

@8 Match List - Lwith List- IL
List - I List - 11
(A) Cooperative Federalism (I)  Niti Aayog
(B) Bargaining Federalism (Il K.C. Wheare
(C) Competitive Federalism (Il) Granville Austin
(D)  Quasi-Federal (IV) Morris Jones
Choose the correct answer from the options given below :
(1)  (A)-(IV), (B)-(III), (C)~(1), (D)-(II)
(2 (A1), (B)-(IV), (O)-(1), (D)-(II)
(3) (A1), (B)-(V), (O)-(1I), (D)-()
(4) (A, (B)-(II), (C)-(IT), (D)-(IV)
Options 1.1
.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217249
Option 1 ID : 53307267201
Option 2 ID : 53307267202
Option 3 ID : 53307267203
Option 4 ID : 53307267204
Status : Answered
Chosen Option : 4
Q.62

Arrange the following political philosophers in the chronelogical order :

Choose the correct answer from the options given below :

Question Type : MCQ
Question ID : 53307217178
Option 1 ID : 53307266917
Option 2 ID : 53307266918
Option 3 ID : 53307266919
Option 4 ID : 53307266920

Status : Answered

Chosen Option : 1
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9% Match List - T with List - IL
List - I List - II
(A) Indo-Soviet Friendship Treaty (I Narendra Modi
(B) Pokhran II (I  Narsimha Rao
(C) Look East Policy (IIf) Atal Bihari Vajpayee
(D) Panchamrit (IV) Indira Gandhi
Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(1D), (C)-(I), (D)-(1V)
(2 (A)-IV), (B)-(III), (C)-(T), (D)-(ID)
(3)  (A)(I), (B)(1V), (O)-(1D), (D)-(D)
(4)  (A)-(IV), (B)-(III), (O)-(1T), (D)-(I)
Options 1. 1
2.2
3.3
ve
Question Type : MCQ
Question ID : 53307217231
Option 1 ID : 53307267129
Option 2 ID : 53307267130
Option 3 ID : 53307267131
Option 4 ID : 53307267132
Status : Answered
Chosen Option : 4
Q.64 Which among the following is not correct about India’s Nuclear Policy ?
(1) Credible Minimum Nuclear Deterrence
(2) No first use
(3) In Post-Pokharan-II phase, India has agreed to sign NPT and CTBT
(4) Homi ].Bhabha is the architect of India’s nuclear programme
Options 1. 1
2.
J. 3
4.4
Question Type : MCQ
Question ID : 53307217220
Option 1 ID : 53307267085
Option 2 ID : 53307267086
Option 3 ID : 53307267087
Option 4 ID : 53307267088
Status : Answered
Chosen Option : 3
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aes Who has given the concept of “Iron law of Oligarchy” ?
(1) James Burnham
(2) Raymond Aron
(3) Karl Mannheim
(4) Robert Michels
Options 1. 1

2.2

5

Question Type : MCQ
Question ID : 53307217201
Option 1 ID : 53307267009
Option 2 ID : 53307267010
Option 3 ID : 53307267011
Option 4 ID : 53307267012

Status : Answered

Chosen Option : 4

Q.66 Which organisation provides a robust communication system and effective support for e-governance
in India ?
(1) Information Technology Organisation
(2) Electronic-Seva
(3) egovindia
(4) The National Informatics Centre

Options 1. 1
2.2

3.3
v/

Question Type :
Question ID :

Option 1 ID
Option 2 ID

Option 4 ID
Status :

McQ
53307217260

: 53307267245
: 53307267246
Option 31D :

53307267247

: 53307267248

Answered

Chosen Option : 1
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Q67 \Who had envisioned the evolution of human life into a divine life in a divine body ?
(1) M.N.Roy
(2) Ram Manohar Lohia
(3) Deen Dayal Upadhayay
(4)  Aurobindo Ghosh

Options 1. 1
2.2
3.3

v

Question Type : MCQ
Question ID : 53307217199
Option 1 ID : 53307267001
Option 2 ID : 53307267002
Option 3 ID : 53307267003
Option 4 ID : 53307267004

Status : Answered

Chosen Option : 4

Q.68 Development Administration encompasses :

(A) Activities relating to Centralization and limiting the number of agencies that deal with
development to be undertaken

(B) New management agencies and systems must be devised

(C) Introduction of competent planning and monitoring delivery
(D) Appointing trained personnel to give specialized support
(E) Regulating the agencies that deal with commercial activities
Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

@  (A), (B) and (E) Only

() (B), (€) and (D) Only

() (A), (E) and (D) Only

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217256
Option 11D : 53307267229
Option 2 ID : 53307267230
Option 3 ID : 53307267231
Option 4 ID : 53307267232

Status : Answered

Chosen Option : 2
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Q.69

“Basic Structure” is outcome of :

(L)
@)
)
(4)

3.3
/4

Original Constitution of India
Constitutional Amendment
Executive Order

Judicial Interpretation

Question Type : MCQ
Question ID : 53307217242
Option 1 ID : 53307267173
Option 2 ID : 53307267174
Option 3 ID : 53307267175
Option 4 ID : 53307267176
Status : Answered
Chosen Option : 2
Q70 pgias diaspora is a strategic asset for the country.
(A) India receives largest volume of remittances
(B) Illegal Indian migrants have given a bad name to India
(C) Indian Americans played key role in the passing of Indo-US nuclear deal
(D) India trained Engineers were instrumental in ushering in IT revolution in the US and then
bringing it to India
(E) Indian Diaspora is a source of soft power for India
Choose the correct answer from the options given below :
(1) (A), (), (D) and (E) Only
@ (&), (B), (C) and (D) Only
(3) (A) and (B) Only
() (A), (B) and (C) Only
Optiongd. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217228
Option 1 ID : 53307267117
Option 2 ID : 53307267118
Option 3 ID : 53307267119
Option 4 ID : 53307267120
Status : Answered

Chosen Option :

1
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Q7 The Third Wave of Feminism reflected the influence of :

(1) PostStructuralism
(2) Anarchism

(3) Liberalism

(4) Multiculturalism

OptiorJ

2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217175
Option 1 ID : 53307266905
Option 2 ID : 53307266906
Option 3 ID : 53307266907
Option 4 ID : 53307266908

Status : Answered

Chosen Option : 4

Q72 Arrange the following International Relations Thinkers in the chronological order :

(A) Kenneth Waltz

(B) Hans Morgenthan

(C) Thucydides

(D) Alexander Wendt

(B) EH. Carr

Choose the correct answer from the options given below :
™ ©. (&), B), (D) (B)

@ (©, (E), (A, (B), (D)

Gy (©) (B) (B), (A), (D)

)  ©.(A) E), B) D)

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217209
Option 1 ID : 53307267041
Option 2 ID : 53307267042
Option 3 ID : 53307267043
Option 4 ID : 53307267044

Status : Answered

Chosen Option : 1
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Q73 Which is the nodal agency to achieve Sustainable Development Goals in India ?
(1) Niti Aayog
(2) Ministry of Environment, Forests and Climate change
(3) National Environment Engineering Institute
(4) Indian Institute of Sustainable Development
OptionJ 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217250
Option 1 ID : 53307267205
Option 2 ID : 53307267206
Option 3 ID : 53307267207
Option 4 ID : 53307267208
Status : Answered
Chosen Option : 2
Q74 Match List - I with List - IL
List - I List - I1
(A) The will is free when its ends are ‘its own’, () G.W.F. Hegal
so that it is self determining
(B) It is the consent, and not the need which (I) J.J. Rousseau
makes the government legitimate
(C) ‘Virtue' is indispensable to the citizen and state ~ (III) Machiavelli
(D) Man naturally good in the moral sense (IV) John Locke
Choose the correct answer from the options given below :
(1) A1), B)-I, (©-O), (D)-(1V)
2 (A)HD, (B)-(IV), (C)-(III), (D)-(I)
(3) (A, (B)«D), (C)-(I), (D)-(IV)
#)  (AHIV), (B)-(T), (C)=(IT), (D)-(IH)
Options 1.
.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217189
Option 1 ID : 53307266961
Option 2 ID : 53307266962
Option 3 ID : 53307266963
Option 4 ID : 53307266964
Status : Answered
Chosen Option : 3
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Q.75

Who founded the All India Harijan Sangh ?
(1) Narayan Guru
M.Gandhi
(3) Jyotiba Phule
(4) Aurobindo Ghosh

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217198
Option 1 ID : 53307266997
Option 2 ID : 53307266998
Option 3 ID : 53307266999
Option 4 ID : 53307267000
Status : Marked For Review
Chosen Option : 3
Q.76 2 . ;
Match List - I with List - II.
List - I List - II
(A) Inside Out Approach ()  Realism
(B) Outside In Approach (II) Liberalism

(C) Theory of Relative Gain (III) Structural Realism
(D) Theory of Absolute Gain  (IV) Classical Realism
Choose the correct answer from the options given below :
(1) (AHI, (B)-(1), (O)-(), (D)-(IV)
(2 (A)-(V), (B)-(IM), (C)-(II), (D)-(D)
(3)  (A)-(IV), (B)-(IH), (O)-(1), (D)-(1T)
(4) (A)-(I), (B)-(IV), (O)I), (D)-(IT)
Options 1. 1
‘7

'3

4.4

Question Type : MCQ
Question ID : 53307217218
Option 1 ID : 53307267077
Option 2 ID : 53307267078
Option 3 ID : 53307267079
Option 4 ID : 53307267080

Status : Answered

Chosen Option : 3
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Q.77

(B)

(E)

(1)
(2)
(3)
(4)

Options 1.
2

Merton's criticism of bureaucratic theory :
(A) Displacement of goals

Trained incapacity

(C) Non conformity
(D) Depersonalisation of relationships

Inadequate accountability and responsibility

Choose the correct answer from the options given below :

(A), (C) and (E) Only
(A), (B) and (D) Only
(B), (C) and (D) Only
(A), (B) and (E) Only

3.3
4.4
Question Type : MCQ
Question ID : 53307217254
Option 1 ID : 53307267221
Option 2 ID : 53307267222
Option 3 ID : 53307267223
Option 4 ID : 53307267224
Status : Answered
Chosen Option : 2
Q.78 peaceful rise of China is a myth rather than a reality.
(A) China’s nibbling of neighbours territory through “Slami Slicing” strategy is against its claim
of peaceful rise
(B) China’s massive aid to Asian and African Countries undermines its claim to peaceful rise
(C) China’s support to non-democratic and authoritarian countries violates its claim to peaceful
rise
(D) China’s assertion of 9 dash-lines is against its claim of peaceful rise
(E) China’s pursuit of “Woll-Warrior Diplomacy” contradicts its claim to peacelul rise
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (E) Only
@ (A), (O), (D) and (E) Only
@) (A), (D) and () Only
(4)  (A) and (B) Only
Options 1. 1
2.
A
4.4
Question Type : MCQ
Question ID : 53307217215
Option 1 ID : 53307267065
Option 2 ID : 53307267066
Option 3 ID : 53307267067
Option 4 ID : 53307267068
Status : Answered
Chosen Option : 2

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...

45/88



9/12/24, 1:44 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/172560113...

Q.79

(D) (A). (B) and (E) Only
(2 (&), (B), (©) and (E) Only
(3 (&), {B) and () Only
#)  (A), (B), (D) and (E) Only

Which of the following statements are correct ?

(A) India will not use its nuclear weapons against non-nuclear states
(B) India is committed to no-first use of nuclear weapons

(C) India will transfer nuclear technology to friendly countries

(D) India will extend its nuclear umbrella to its friendly neighbouring countries in South Asia
(E) India will develop credible nuclear deterrent capability
Choose the correct answer from the options given below :

Optio 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217226
Option 1 ID : 53307267109
Option 2 ID : 53307267110
Option 3 ID : 53307267111
Option 4 ID : 53307267112
Status : Answered
Chosen Option : 1
Q.80 5 3 3 3
New provisions under the Consumer Protection Act include :
(A) Strict Norms for misleading advertisements
(B) Establishment of Central Consumer Protection Authority
(C) Inclusion of E-Commerce, Direct selling
(D) Alternate Dispute Resolution through Mediation
(E) Powers of Consumer to complain have been restricted
Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only
(2) (B), (©) and (D) Only
(3) (A), (B), (C) and (D) Only
(4) (A), (B) and (E) Only
Options 1. 1
2.
v
4.4
Question Type : MCQ
Question ID : 53307217263
Option 1 ID : 53307267257
Option 2 ID : 53307267258
Option 3 ID : 53307267259
Option 4 ID : 53307267260
Status : Answered
Chosen Option : 3
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Q.81 Ministry of Panchayati Raj, Government of India has initiated measures to make the Panchayats
vibrant. Arrange the following in sequential order, from earlier to later time.
(A) SVAMITVA Scheme, Property Survey
(B) Multi Bijli Yojana to install rooftop solar and provide free electricity upto 300 monthly units
(C) Revamped Rashtriya Gram Swaraj Abhiyan (RGSA) with focus on localization of Sustainable
Development Goals
(D) Release of a standard operating procedure (SOP) regarding e-gram Swaraj to bring in better
transparency
Choose the correct answer from the options given below :
1) (A) (C), (B) and (D)
(20 (B), (), (A) and (D)
G} O) (A, €] and (B)
(4)  (©), (D), (A) and (B)
Optionw
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217262
Option 11D : 53307267253
Option 2 ID : 53307267254
Option 3 ID : 53307267255
Option 4 ID : 53307267256
Status : Answered
Chosen Option : 1
Q82 Which among the following statement related to CBDR (Common But Differentiated Responsibilities)
is not correct :
(1) Itis an important global environmental norms developed by the international community
(2) It favours Developing Countries
(3) It grants certain trade concessions to Developing Countries
(4) Developed Countries are opposed to it
Options 1. 1
2.
.3
4.4
Question Type : MCQ
Question ID : 53307217208
Option 1 ID : 53307267037
Option 2 ID : 53307267038
Option 3 ID : 53307267039
Option 4 ID : 53307267040
Status : Answered
Chosen Option : 1
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Q83 Different countries have different kinds of Political Party System. Identify the right answer from
the given options.
(A) China is a Communist country, therefore it has single party system
(B) India enjoys multi party system
(C) Britain has two party system
(D) Japan enjoys two party system
(E) South Africa has single party system
Choose the correct answer from the options given below :
M (@A), B, ©. O) E)
(2} (A). (B). (C) Only
(@) (B), (€}, (D), (E) Only
4 (©, (D), (E) Only

Options 1
i

3.3
4.4
Question Type : MCQ
Question ID : 53307217206
Option 1 ID : 53307267029
Option 2 ID : 53307267030
Option 3 ID : 53307267031
Option 4 ID : 53307267032
Status : Answered
Chosen Option : 3
Q-84 Which of the following statements are true ?
(A) The constitution of India allows the state to intervene in matters of religion in order to ensure
equality among religious communities
(B) Constitution prohibits discrimination on the grounds of religion
(C) The Constitution provides to all individuals and communities freedom to profess, practice
and propogate any religion or not to follow any
(D) g}lf lfj?;lstitution of India advocates the titles of military or academic distinction for the citizen
(E) Fundamental Rights are non-justiciable rights
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2 (B) and (C) Only
(3} (A), (B) and (C) Only
@  (A), (B), (O) and (D) Only
Options 1. 1
2.2
3
v
Question Type : MCQ
Question ID : 53307217239
Option 1 ID : 53307267161
Option 2 ID : 53307267162
Option 3 ID : 53307267163
Option 4 ID : 53307267164
Status : Answered
Chosen Option : 4
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Q.85
Which does not come under All India Service ?

(A) Indian Administrative Services

(B) Indian Police Service

(C) Indian Foreign Service

(D) Indian Forest Service

(E) Indian Custom Service

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

2) (A (B), (©), D) (E)

(3) (B) (©), (D) (E) Only

(4) (C) and (E) Only

Question Type : MCQ
Question ID : 53307217233
Option 1 ID : 53307267137
Option 2 ID : 53307267138
Option 3 ID : 53307267139
Option 4 ID : 53307267140
Status : Marked For Review
Chosen Option : 4

Q.86  yhich is/are group of people who come together to contest election and hold power in the
government ?

(A) Pressure Group

(B) Political Party

(C) Interest Group

(D) Business Lobby

(E) Religious Group

Choose the correct answer from the options given below :
(1) (A) and (B) Only

@ (B) Only

() (B). (© and (D) Only

(#)  (Q), (D) and (E) Only

Options 1,
.2

3.3
4.4

Question Type : MCQ
Question ID : 53307217248
Option 1 ID : 53307267197
Option 2 ID : 53307267198
Option 3 ID : 53307267199
Option 4 ID : 53307267200

Status : Answered

Chosen Option : 2
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Q.87 Match List - T with List - IL.

List - I List - I
(A) Stephen P. Osborne () The NPM : Improving Research and Policy Dialogue
(B) Christopher Hood (II) New Public Management : An Introduction
(C) Jan-Erik Lane (IIT) The Art of the State : Culture, Rhetoric and Public
Management
(D) Michael Barzelay (IV) Public Management : Critical Perspectives on Business and
Management

Choose the correct answer from the options given below :
(1) (A1), (B)-(ID), (C)-(1II), (D)-(1V)
(2)  (A)(IV), (B)-(L), (O)-(11), (D)-(D)
(3)  (A)-(ID), (B)-(IN), (C)-(I), (D)-(TV)
(4) (A, B)-(D), (O)-(LV), (D)-(1L)

Options 141
NE

3.3
4.4

Question Type : MCQ
Question ID : 53307217257
Option 11D : 53307267233
Option 2 ID : 53307267234
Option 3 ID : 53307267235
Option 4 ID : 53307267236

Status : Answered

Chosen Option : 1

Q88 Ambedkar was a multifaceted personality. Which of the facts and opinion are true ?
(A) Ambedkar defined social justice as a means for giving equal opportunity to all
(B) Jyotiba Phule was his ideal
(C) He was the first Attorney General of India
(D) He contested election
(E) He was PhD in Economics
Choose the correct answer from the options given below :
® @A), B, ©), D) (B)

() (A (B), (D), (E) Only
()  (B), (©), (D), (E) Only
4  (A), (B), (O) (E) Only

Options 11

iy 2

3.3
4.4

Question Type : MCQ
Question ID : 53307217193
Option 1 ID : 53307266977
Option 2 ID : 53307266978
Option 3 ID : 53307266979
Option 4 ID : 53307266980

Status : Answered

Chosen Option : 2
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Q.89 The cornerstone of the ECI's mandate derives from Article 324 of the Constitution.

(A) Article 324 mandated that the commission is to be led by a Single Chief Election Commissioner
(CEC)

(B) The president can appoint additional commissioners

(C) Judiciary is barred from interference in the election process

(D) Election Commission also conducts the elections of Panchayats

(E) During the Election Period CEC acts as Chief Executive Officer of Government of India
Choose the correct answer from the options given below :

(1) (A) (B), (), D). (B)

2 (&) B),(©)

() (B). (C) (D). (B)

@) (A), (O, (D), (E)

Options 11
J 2

3.3
4.4

Question Type : MCQ
Question ID : 53307217234
Option 1 ID : 53307267141
Option 2 ID : 53307267142
Option 3 ID : 53307267143
Option 4 ID : 53307267144

Status : Answered

Chosen Option : 2

Q.90
System Theory focuses on the study of organisation as a :
(1) Continuous system
(2) Cooperative or Collaborative system
(3) Disorganised system
(4) Constrained mechanism

Options 1. 1
)

3.3

4.4

Question Type : MCQ
Question ID : 53307217251
Option 1 ID : 53307267209
Option 2 ID : 53307267210
Option 3 ID : 53307267211
Option 4 ID : 53307267212

Status : Answered
Chosen Option : 2
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Q.91
(1) Swami Vivekanand
(2) William Jones
(3) Benoy Kumar Sarkar
(4) Aurobindo Ghosh

Options 1. 1

2.2
V-
4.4

Who wrote “Hindu T]lEﬂry of International Relations” 7

Question Type : MCQ
Question ID : 53307217196
Option 11D : 53307266989
Option 2 ID : 53307266990
Option 3 ID : 53307266991
Option 4 ID : 53307266992
Status : Answered
Chosen Option : 3
Q.92 njagch List - I with List - IL
List - I List - I
(A) People who should rule are those who know about politics ()  Mary Wollstonecraft
(B) The achievement of freedom through the abolition of (Il John Rawls
exploitation and oppression
(C) The Principle of equal basic liberties (II) Aristotle
(D) Freedom, rights and citizenship of women as well as of men (IV) Karl Marx
Choose the correct answer from the options given below :
(1) (A)-(1D), (B, (©)-@), (D)-(LV)
(@A), (B-(1), (©-(1), (D)-(1V)
(3) (A1), (B, (©)-1V). (D)-@)
@ (A, (B)-IV), (Q-(1D, (D)-()
Options 1. 1
2.2
3.
V4
Question Type : MCQ
Question ID : 53307217188
Option 1 ID : 53307266957
Option 2 ID : 53307266958
Option 3 ID : 53307266959
Option 4 ID : 53307266960
Status : Answered
Chosen Option : 4
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Q.93 When the President of India resigns he/ she addresses resignation letter to :
(1) The Prime Minister of India
(2) The Chief Justice of Supreme Court
(3) The Vice President of India
(4) The Attorney General of India
Options 1. 1
2.
VA
4.4
Question Type : MCQ
Question ID : 53307217241
Option 1 ID : 53307267169
Option 2 ID : 53307267170
Option 3 ID : 53307267171
Option 4 ID : 53307267172
Status : Answered
Chosen Option : 3
Q.94 Arrange the Commissions or Committees for improving Centre State relations in India in ascending
order.
(A) Balwant Rai Mehta Committee
(B) Sarkaria Commission
(C) Punchhi Commission
(D) Bhore Committee
(E) Rajmannar Committee
Choose the correct answer from the options given below :
(1) (A) (B). (©), (D), (B)
@ @A) (C.®B). D) B
(3) (D), (A), (B), (B), ()
(4) (A, (D), (B), (B), (O
Options 1. 1
2.
73
4.4
Question Type : MCQ
Question ID : 53307217244
Option 1 ID : 53307267181
Option 2 ID : 53307267182
Option 3 ID : 53307267183
Option 4 ID : 53307267184
Status : Answered
Chosen Option : 2
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Q.95 : R i
Cosmopolitans argue that citizenship should extend to the :
(1) Country in which an individual resides
(2) People based upon where a person is born
(3) World as a whole
(4) Persons accepted by Governments based on laws and rules
Options 1. 1
2
.3
4.4
Question Type : MCQ
Question ID : 53307217176
Option 1 ID : 53307266909
Option 2 ID : 53307266910
Option 3 ID : 53307266911
Option 4 ID : 53307266912
Status : Answered
Chosen Option : 3
Q.96 y o
Who propounded the concept of ‘“Total Revolution” ?
(1) J. L. Nehru
(2) Aurobindo Ghosh
(3) Java Prakash Narayan
(4) Bal Gangadhar Tilak
Options 1. 1
W4
.3
4.4
Question Type : MCQ
Question ID : 53307217195
Option 1 ID : 53307266985
Option 2 ID : 53307266986
Option 3 ID : 53307266987
Option 4 ID : 53307266988
Status : Answered
Chosen Option : 3
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. ch statement are incorrect with reference to the Election Campaign in India ?
Q97 which i ith ref the Election Campaign in India ?
(A) Government provides resources for the election campaign
(B) No party or candidate can bribe or threaten voters
0 pa Or car te can use an ace ol wors or elechon propaganda
C) No party ndida y pl f hip for election propagand
o party or candidate can appeal to voters in the name of caste or religion
D) No party did ppeal in thy f ligi

(E) Once elections are announced, ministers shall not lay the foundation stone of any project or
make any promise to the voters

Choose the correct answer from the options given below :
(1)  (A) Only

(2)  (A), (B) and (C) Only

(3)  (B) and (D) Only

(4)  (A), (D) and (E) Only

Optio 71
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217240
Option 1 ID : 53307267165
Option 2 ID : 53307267166
Option 3 ID : 53307267167
Option 4 ID : 53307267168
Status : Answered
Chosen Option : 1
Q.98 Among the following challenges to Indian Democracy, which ane is not related to Globalization :
(A) De-politicisation
(B) Roll back of welfare state
(C) Politics of defection
(D) Decay of nation-state
(E) Crony capitalism
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2} (C) Only
(3)  (A) and (E) Only
() (A), (D) and (E) Only
Options 1.
4
3.3
4.4
Question Type : MCQ
Question ID : 53307217237
Option 1 ID : 53307267153
Option 2 ID : 53307267154
Option 3 ID : 53307267155
Option 4 ID : 53307267156
Status : Answered
Chosen Option : 2
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a9 Key elements of Machiavelli include :

(A) Classification of political regimes

(B) Critigue of classical philosophical ideas
(C) Criticism of Liberty

(D) Ideas on Republicanism

(E) Analysing power

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

(2) (A), (D) and (E) Only

() (B), (O) and (D) Only

(4) (B), (D) and (E) Only

Options 1. 1

2.2

Question Type : MCQ
Question ID : 53307217191
Option 1 ID : 53307266969
Option 2 ID : 53307266970
Option 3 ID : 53307266971
Option 4 ID : 53307266972

Status : Answered

Chosen Option : 4

Q100 observed that intellectuals “are the dominant groups ‘deputies’ exercising the subaltern
functions of social hegemony and pelitical government” ?
(1) Mao Zedong
(2) Antonio Gramsci
(3) Karl Marx
(4) Frantz Fanon

Options 141
v

3.3
4.4

Question Type : MCQ
Question ID : 53307217183
Option 1 ID : 53307266937
Option 2 ID : 53307266938
Option 3 ID : 53307266939
Option 4 ID : 53307266940

Status : Answered

Chosen Option : 2
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Q101 Which of the following statement is not correct about Constitutionalism ?

(1) Totalitarian Government
(2) Responsible Government
(3) Limited Government

(4) Constitutional Monarchy
Optio 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217205
Option 1 ID : 53307267025
Option 2 ID : 53307267026
Option 3 ID : 53307267027
Option 4 ID : 53307267028

Status : Answered

Chosen Option : 1

Q102 \yhich of the following statements are associated with the theory of International Realism ?
(A) Domestic politics is characterised by hierarchy and international politics by anarchy
(B) Power is both means and end
(C) Believes in relative gain rather than absolute gain
(D) Anarchy is what states make of it
(B) Like all politics, international politics is the struggle for power
Choose the correct answer from the options given below :

M (A)(B), (O), (D) and (E)
(2} (A), (B), (C) and (D) Only
(®)  (A), (B) and (C) Only

#)  (A), (B), (C) and (E) Only

Options 1. 1
2.2

J.

Question Type : MCQ
Question ID : 53307217212
Option 1 ID : 53307267053
Option 2 ID : 53307267054
Option 3 ID : 53307267055
Option 4 ID : 53307267056

Status : Answered

Chosen Option : 1
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108 A thinker of anti-colonial struggle and revolutionary action :
(1) Karl Marx
(2) A. Gramsci
(3) Hannah Arendt
(4) Frantz Fanon
Options 1. 1

2.2

y

Question Type : MCQ
Question ID : 53307217184
Option 11D : 53307266941
Option 2 ID : 53307266942
Option 3 ID : 53307266943
Option 4 ID : 53307266944

Status : Answered
Chosen Option : 4

Q.104 Hannah Arendt analyses the Vita activa via three categories which corresponds to the three
fundamental activities of our being in the world.
(1) Capital, job and pleasure
(2) Desire, fulfilment and violence
(3) Labour, work and action
(4) Freedom, suffering and rights

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217185
Option 1 ID : 53307266945
Option 2 ID : 53307266946
Option 3 ID : 53307266947
Option 4 ID : 53307266948

Status : Answered
Chosen Option : 4
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(&)
(B)
(©
(D)

E)

(1)

Q.105 India believes in and practices strategic autonomy in its foreign policy.

India refused to be a party to any military alliance during cold war
India procured its weapons from all possible sources
India yielded to American pressure to reduce its oil import from Iran

India refused to yield to Western pressure to not to import oil from Russia because of its

Ukraine invasion

India refused to sign NPT and CTBT to protect its strategic autonomy

(A), (B) and (C) Only

Choose the correct answer from the options given below :

(@ (), (C) and (D) Only
(3)  (A), (B) and (E) Only
(4)  (A), (B) and (D) Only
Options 1. 1
2.2
3.3
4
Question Type : MCQ
Question ID : 53307217227
Option 1 ID : 53307267113
Option 2 ID : 53307267114
Option 3 ID : 53307267115
Option 4 ID : 53307267116
Status : Answered
Chosen Option : 3
Q.106
Match List - I with List - I1.
List - I List - 11
(A) Heartland Theory (D A.T. Mahan
(B) Rimland Theory (If) Halford Mackinder
(C) Sea Power Theory (ITII) Alexander Seversky
(D) Air Power Theory (IV) Nicholas Spykman
Choose the correct answer from the options given below :
(1) (A1), (B)-(V), (C)-(1), (D)-(IL)
(2 (A)IV), (B)-ID), (O)-(I), (D)-(II)
(3)  (A)ID, (B)-(IV), (O)-(LLL), (D)-(I)
@) (A)-(), (B)-(IT), (O)-(IV), (D)-(1LD)
Optionl1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217217
Option 1 ID : 53307267073
Option 2 ID : 53307267074
Option 3 ID : 53307267075
Option 4 ID : 53307267076
Status : Answered
Chosen Option : 1
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Q.107 Chronologically arrange the classical works of westemn political philosophers.

) The Social Contract

) Elements of Philosophy of Right

) On Liberty

) The Economic and Philosophical Manuscripts
Choose the correct answer from the options given below :
M) (@), ©, @ ©® O

2 (A, (B), (D), (O (B)

@) (). (A) ©). E), D)

@ ®, © (A), D) B)

Options 1. 1
2.2

J

(B
(C
(D
(E

(A) A Vindication of Rights of Women with strictures on Moral and Political Subjects

Question Type : MCQ
Question ID : 53307217190
Option 1 ID : 53307266965
Option 2 ID : 53307266966
Option 3 ID : 53307266967
Option 4 ID : 53307266968
Status : Answered
Chosen Option : 3
Q.108 : : .
Match List - I with List - I
List - I List - II
(A) Socialism ()  E.F. Schumacher
(B) Feminism (I) Charles Taylor
(C) Ecologism (III) Thomas Piketty
(D) Multiculturalism (IV) Bell Hooks
Choose the correct answer from the options given below :
(1) (A0, (B)-(I), (O(ID), (D)-(IV)
@ (A)-, B-0, O, (D)-(1V)
3)  (A)MIV), (B)-(IL), (C)-(I), (D)-(ID)
(4) (A, (BIHIV), (1), (D)-(ID)
Options 1. 1
2.2
3.
V.
Question Type : MCQ
Question ID : 53307217182
Option 1 ID : 53307266933
Option 2 ID : 53307266934
Option 3 ID : 53307266935
Option 4 ID : 53307266936
Status : Answered
Chosen Option : 4
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q/4

®1% Match List - I with List - IL
List - I List - 1I
(A) Labour Party (I) Bangladesh
(B) Republican Party (II) Algeria
(C) The Islamic Salvation Front (III) Britain
(D) Awami League (IV) America
Choose the correct answer from the options given below :
(1) (A, (B(1V), (©)-(1), (D))
@) (A1), BHIW, ©HI), (D)-1V)
() (), B, ©)-V), (D)0
(@) (A)-), BIHIV), (A1), D))
Options 1. 1
2.2
353

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217207
53307267033
53307267034
53307267035
53307267036
Answered

4
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QM0 Match List - I with List - IL
List - I List - II

(A) Shimla Agreement (Iy  Jawahar Lal Nehru

(B) Tashkent Agreement (I) Indira Gandhi

(C) Indus Water Treaty (IlI) Manmoham Singh

(D) Indo-US Nuclear Agreement (IV) Lal Bahadur Shashtri

Choose the correct answer from the options given below :

(1) (A)-(, (B)-QV), (O)-), (D)-(I)

2) ( IV), (BIID), (C)-(), (D)-(II)

(3) (A1), (B-(I), (O)-(1D), (D)-(0)

(4) (A1), (B)-1V), (C)-(), (D)-(1)

Optio 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 53307217229
Option 11D : 53307267121
Option 2 ID : 53307267122
Option 3 ID : 53307267123
Option 4 ID : 53307267124
Status : Answered
Chosen Option : 1
Q.11

Which of the following statements are correct ?

(A) China has blocked India’s membership to NSG (Nuclear Suppliers Group)
(B) India has refused to be part of China promoted BRI (Belt and Road Initiative)
(C) Gujral doctrine believes in reciprocity

(D) India and China cooperate with each other in climate change talks

(E) Sino-Indian trade is an example of balanced trade

Choose the correct answer from the options given below :

(1) (A), (), () and (D) Only

2  (A), (B) and (D) Only

(3) (A), (B) and (C) Only

(4) (8, (O, (D) and (E) Only

Options 1.
2

3.3
4.4

Question Type : MCQ
Question ID : 53307217225
Option 1 ID : 53307267105
Option 2 ID : 53307267106
Option 3 ID : 53307267107
Option 4 ID : 53307267108

Status : Answered

Chosen Option : 3
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Q112 Arrange the following events/incidents related to Sino-India relations chronologically.
(A) Chinese Invasion of India

(B) Wuhan Spirit

(C) Galwan Valley Incident

(D) Chennai Connect

(E) Nathu La Skirmishes

Choose the correct answer from the options given below :
® @A) (B, B, D) (©)

@  ®, ), B). (D) (O

By (A (B), D), (B), (O)

(A), (E), (©), (B), (D)
Optio 1

2.2
3.3
4.4
Question Type : MCQ
Question ID : 563307217222
Option 1 ID : 53307267093
Option 2 ID : 53307267094
Option 3 ID : 53307267095
Option 4 ID : 53307267096
Status : Answered
Chosen Option : 3
Q113 With the reference to Indian Political System, consider the following statements.
(A) One salient feature of Indian Political System is the combination of centralisation and
decentralisation
(B) Indian political system throughout the British period was very much dominated by religion
(C) In Indian Political System the real executive power is with the President
(D) The Government System is based on three organs, Legislative, Executive and Judiciary
(E) The Bureaucracy plays a minimalistic role in Government System
Choose the correct answer from the options given below :
(1)  (A) and (B) Only
(2} (A), (B) and (C) Only
(3) (A), (B) and (D) Only
() (A), (B). (©), (D) and (E)
Options 1. 1
2.
73
4.4
Question Type : MCQ
Question ID : 53307217246
Option 1 ID : 53307267189
Option 2 ID : 53307267190
Option 3 ID : 53307267191
Option 4 ID : 53307267192
Status : Answered
Chosen Option : 4
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Q114
(1)
@
®)
)

Options 1. 1
2.2

J.

Managing for Results
The New Society

The Frontier of Management
The Practice of Management

Management by objectives was the key idea put forward by Peter Drucker in :

Question Type : MCQ
Question ID : 53307217252
Option 1 ID : 53307267213
Option 2 ID : 53307267214
Option 3 ID : 53307267215
Option 4 ID : 53307267216
Status : Answered
Chosen Option : 4
Q115 Advantages of social audit.
(I) Encourages e-democracy
(2) Promotes collective decision making and sharing responsibilities
(3) Trains the community in audit practices
(4) Benefits local bureaucracy and elected representatives
Options 1.
WA
3.3
4.4
Question Type : MCQ
Question ID : 53307217261
Option 1 ID : 53307267249
Option 2 ID : 53307267250
Option 3 ID : 53307267251
Option 4 ID : 53307267252
Status : Answered
Chosen Option : 2
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@M Match List - I with List - IL
List - I List - II
(A) Doklam Confrontation (I) Atal Bihari Vajpayee
(B) Bangladesh War (II) Lal Bahadur Shastri
(€C) Kargil War (IfI) Narendra Modi

(D) 1965 Indo-Pakistan War  (IV) Indira Gandhi
Choose the correct answer from the options given below :
(1) (A, (B)HIV), (OH1), (D))
(2 (A)-(IV), (B)-(IID), (C)-(D), (D)-(I)
(3)  (A)(II), (B)-(1V), (O)-(ID), (D)-(I)
(4) (A)-ID, (B)-I), (C)-(II), (D)-(V)
Optionw
2.2
3.3
4.4

Question Type
Question ID
Option 11D

:MCcQ
: 53307217230
: 53307267125
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

53307267126
53307267127
53307267128
Answered

1

Q117
Human Rights are also criticised for :

(1) Elevating collectivism above individualism

(2) Equating collectivism and individualism

(3) Elevating individualism above collectivism

(4) Opposing collectivism as well as individualism

Options 1.
2

3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217174
53307266901
53307266902
53307266903
53307266904
Answered

1
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(A)
(B)
(©)
(D)

E)

(@)
@
3)
(4)
Options 1. 1
2.2

7

Q.18 Which among the following statements are not correct about the Parlimentary System of
Government in India ?

Choose the correct answer from the options given below :

All parties in the parliament are represented in the government
The Government is responsible to the Parliament and can be removed by it
Government is elected for a fixed term

The Government is chosen by the Parliament and cannot be removed before completion of its
fixed term

An independent body is established by the constitution for free and fair election

(A) and (B) Only
(B), (C) and (F) Only
(C) and (D) Only
{B) and (F) Only

Question Type : MCQ
Question ID : 53307217236
Option 1 ID : 53307267149
Option 2 ID : 53307267150
Option 3 ID : 53307267151
Option 4 ID : 53307267152

Status : Answered

Chosen Option : 2

Q.119

(A)
(B)
(©)
(D)
(E)

1)
()
(3)
(4)
Options 1. 1
.2

3.3
4.4

Arrange the fo]lowi_ng mternational events in ascending order :

Choose the correct answer from the options given below :

Demise of Communism in East Europe
Unification of Germany

Disintegration of Soviet Union

Assumption of Presidency by Mikhail Gorbachev
INF Treaty

©), (D), (B), (A), (B)
(D), (B), (B), (A), (©)
(D), (B), (A), (B), ()
(D), (B), (©), (A), (B)

Question Type : MCQ
Question ID : 53307217210
Option 1 ID : 53307267045
Option 2 ID : 53307267046
Option 3 ID : 53307267047
Option 4 ID : 53307267048

Status : Answered

Chosen Option : 3
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Q.120

(A)
B)

©

()

(1)
@
®)
(4)

Options 1. 1

4.4

Match List - I with List - 1.

List - I List - 11
Government requires a special elite (I) Liberalism
Majority of the population are incapable of (II) Marxism
effective self-government

Political democracy ignores the lack of (II) Feminism
democracy in economic relations

Democratic systems reflect gender divisions (IV) Conservatism
in society

Choose the correct answer from the options given below :

(A)-(I), (B)-(LL), (C)-(11), (D)-(1V)
(A)-(ID), (B)-I), (O)«(IV), (D)~(IIL)
(A)-(IV), (B)-(D), (C)-(II), (D)~(I1I)
(A, (B)(ID), (©)-1), (D)-(IV)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
53307217181
53307266929
53307266930
53307266931
53307266932
Answered

3
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Q.121

Match List - I with List - IL

List - I
(A) World System Theory (D
(B) Social Constructivism (1)
(C) Defensive Realism (II)
(D) Offensive Realism (Iv)

List - II
Kenneth Waltz
John Mearsheimer

Immanual Walterstein

Alexander Wendt

Choose the correct answer from the options given below :

(1) (A)HIV), (B)-(IL), (O)~(D), (D)-(IT)
(2)  (AHIL), (B)ALV), (C)-(1), (D}-(I)
(3) (AL, (B)(1V), (O)-(D), (D)-(D)
@) (A)-D), (B, (O)-IV), (D))

Options 1.
2

3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

MCcQ
53307217219
53307267081
53307267082
53307267083
53307267084
Answered

2
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4122 \Which of the following are variants of International Liberalism ?
(A) Complex Interdependence
(B) Institutional Liberalism
(C) Republican/Democratic Liberalism
(D) Neoliberalism
(E) Classical Liberalism
Choose the correct answer from the options given below :
(1) (A), (B), (O), (D) and (E)
2) (A), (B), () and (D) Only
() (A), (B) and (C) Only
(4) (B), (O), (D) and (E) Only
Options 1. 1
2.
v
4.4
Question Type : MCQ
Question ID : 53307217213
Option 1 ID : 53307267057
Option 2 ID : 53307267058
Option 3 ID : 53307267059
Option 4 ID : 53307267060
Status : Answered
Chosen Option : 4
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Q123 Consider the statements about Constitutional Government.

(A) Itis a form of limited government

(B) One where Constitution is the basis of public authority
(C) One where Prime Minister is the formal head of the state
(D) One where there is always universal adult franchise
(E) One where there is always limited adult franchise
Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (A), (B) and (C) Only

(3) (A), (B) and (E) Only

(4) (A), (B), and (D) Only

Optionggl. 1

2.2

3.3
4.4

Question Type : MCQ
Question ID : 53307217247
Option 1 ID : 53307267193
Option 2 ID : 53307267194
Option 3 ID : 53307267195
Option 4 ID : 53307267196

Status : Answered

Chosen Option : 4

Q124 A person whais in the know of things and is willing to alert the controlling authority by disclosing
the corrupt act or practice that takes place.

(1) Lokayukta

(2) Ombudsman

(3)  Whistle Blower

(4) Central Vigilance Commissioner

Options 1. 1

/:

4.4

Question Type : MCQ
Question ID : 53307217259
Option 11D : 53307267241
Option 2 ID : 53307267242
Option 3 ID : 53307267243
Option 4 ID : 53307267244

Status : Answered

Chosen Option : 3
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Q.125
When the Reserve Bank of India was established ?
(1) 1951
(2) 1971
(3) 1935
(4) 1947
Options 1. 1
2
S
4.4

Question Type : MCQ
Question ID : 53307217232
Option 1 ID : 53307267133
Option 2 ID : 53307267134
Option 3 ID : 53307267135
Option 4 ID : 53307267136

Status : Answered

Chosen Option : 3

Q.126 Application of the laws of dialectics in social life is demonstrated through the principle of :
(1)  Social materialism
(2) Economic materialism
(3) Historical materialism
(4) Cultural materialism

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217186
Option 1 ID : 53307266949
Option 2 ID : 53307266950
Option 3 ID : 53307266951
Option 4 ID : 53307266952

Status : Answered

Chosen Option : 2
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Q127 Who had organised the Abhinava Bharat , a Secret Society of Revolution ?

(1) Bal Gangadhar Tilak
(2) V.D. Savarkar
(3) Aurobindo Ghosh
(4) Prafulla Chaki
Options 1.
/
3.3
4.4
Question Type : MCQ
Question ID : 53307217194
Option 1 ID : 53307266981
Option 2 ID : 53307266982
Option 3 ID : 53307266983
Option 4 ID : 53307266984
Status : Answered
Chosen Option : 2
Q.128 " . ]
Deliberative Democracy Champions :
(A) Informal debate
(B) Direct participation of citizens
(C) Public use of reason
(D) Impartial pursuit of truth
(E) Monism as well as Dualism
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2) (B) and (C) Only
(3) (A), (C) and (D) Only
(4) (A), (D) and (E) Only
Options 1. 1
2
S
4.4
Question Type : MCQ
Question ID : 53307217180
Option 1 1D : 53307266925
Option 2 ID : 53307266926
Option 3 ID : 53307266927
Option 4 ID : 53307266928
Status : Answered
Chosen Option : 1
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Q129 choose the correct statements from the following,.
(A) India has signed RCEP (Regional Comprehensive Economic Partership)
(B) India has refused to sign NPT because it is a discriminatory treaty
(C) India has signed CTBT (Comprehensive Test Ban Treaty)
(D) India has signed PTBT (Partial Test Ban Treaty)
(E) India Supports CBDR (Common But Differentiated Responsibilities) in climate change
negotiations
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only
(@) (A), (B) and (C) Only
(3 (), (D) and (E) Oy
() (A), (B) and (D) Only

Options 1. 1
2.
73
4.4
Question Type : MCQ
Question ID : 53307217224
Option 11D : 53307267101
Option 2 ID : 53307267102
Option 3 ID : 53307267103
Option 4 ID : 53307267104
Status : Answered
Chosen Option : 3
Q.130 Which of the following statements are correct regarding conservatism ?
(A) Conservatism postulates collective leadership, promotes treaties to achieve peace and order
(B) Sympathises with free-market ideology, greater emphasis on nationalism and the authority
of the state
(C) A disposition or an ‘attitude of mind” placing their faith in pragmatism, tradition and history
(D) Provides a model for change, improves freedom of thought and take steps to improve happiness
of masses
(E) Conservatives believe in equality and they work towards reducing various kinds of inequalities
Choose the correct answer from the options given below :
(1) (B) and (C) Only
@ (A), (B)and (D) Only
(3) (&), (B) and (E) Only
4 (O and (D) Only
Optionl 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217179
Option 1 ID : 53307266921
Option 2 ID : 53307266922
Option 3 ID : 53307266923
Option 4 ID : 53307266924
Status : Answered
Chosen Option : 1
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Q.131
identify which is correct.
(A) Bal Gangadhar Tilak
(B) Lala Lajpat Rai
(C) Bipin Chandra Pal
(D) Gopal Krishna Gokhale
(E) Dada Bhai Naoroji

(1) (A), (B), (C) Only

@ (A (B), ©), D), E)
(3)  (A) (B), (O). (D) Only

(4 (B), (C), (D), (E) Only
Optio 1

Indian National Movement had many streams. One of them was Extremist From the following

Choose the correct answer from the options given below :

2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217200
Option 1 ID : 53307267005
Option 2 ID : 53307267006
Option 3 ID : 53307267007
Option 4 ID : 53307267008
Status : Answered
Chosen Option : 1
Q132 Match List - I with List - IL
List - I List - II
(A) Vedvyasa ()  Political Guru of Gandhi
(B) Kautilya (IIy Mahabharat
(C©) Raja Ram Mohan Roy (IIT) Saptang
(D) Gopal Krishna Gokhale (IV) Pioneer of Indian Renaissance
Choose the correct answer from the options given below :
(1) (A)-ID), (B)-(), (O)-1V), (D)-(I)
(@) (A1), (B)-(1D), ©-(1), (D)-AV)
() (AW, B-0, (©-m), (D)-aV)
(4)  (A)D), (B)-(ID), (C)-(I), (D)-(IV)
Option 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217192
Option 1 ID : 53307266973
Option 2 ID : 53307266974
Option 3 ID : 53307266975
Option 4 ID : 53307266976
Status : Answered
Chosen Option : 1
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Q.133

(A)
(B)
(©)
(D)

(1)
(2)
()
(4)
Optio 1
2.2

3.3
4.4

Match List - I with List - I1.

List - I List - II
First Lok Sabha Election () 1950
Adoption of the Constitution (I) 1949
First Republic Day (IIf) 1975
Promulgation of Emergency (IV) 1952

Choose the correct answer from the options given below :

(AHIV), (B)-(11), (C)-(D), (D)~(I1)
(A0, (B)-(ID), (C)-(1), (D)-(V)
(A1), (B)-(ID), (C)-(D), (D)~(IV)
(A)-(0), (B)-(IT), (O)-(I1I), (D)-(IV)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217235
53307267145
53307267146
53307267147
53307267148
Answered

1

Q.134

()
@)
)
(4)

Which among the following is a justiciable right ?

Directive principles of the state policy
Fundamental Duties

Preamble

Fundamental Rights

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307217243
53307267177
53307267178
53307267179
53307267180
Answered

4
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Q135 Arrange John Rawls writings in chronological order which indicates his evolution as a philosopher
of eminence ?

(A) Political Liberalism

(B) A Theory of Justice

(C) Juslice as Fairness

(D) The Law of Peoples

Choose the correct answer from the options given below :
®  (© (@) () D)

@  (©)B), © (A

(3)  (©. (B), (A) (D)

4)  (B), (D), (O (A)

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217187
Option 11D : 53307266953
Option 2 ID : 53307266954
Option 3 ID : 53307266955
Option 4 ID : 53307266956

Status : Answered
Chosen Option : 3

Q.136 Arrange the following events/incidents related to India-Pakistan Relations chronologically.
(A) Kargil War
(B) Shimla Agreement
(C) Pulwama Incident
(D) Indus Water Treaty
(B) Uri Incident
Choose the correct answer from the options given below :
1) (D), (B), (Q), (A), (E)
2 (D), (B), (B). (A) ()
3 (®). (D) (A) (B).(C)
# O (®), (A) () (©

Options 1. 1
2.2

3,3
,/4

Question Type : MCQ
Question ID : 53307217221
Option 1 ID : 53307267089
Option 2 ID : 53307267090
Option 3 ID : 53307267091
Option 4 ID : 53307267092

Status : Answered
Chosen Option : 4
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Q137 Match List - T with List - IL

List - I List - 11

(A) Theory of Motivation ()  Mary Parker Follett

(B) Psychologically oriented imprint on research () Douglas McGregor
into industrial relations

(C) Administrative processes are more important than () Eltan Maye
hierarchy and authority

(D) Focus on values like citizen responsiveness, worker (IV) H.G. Frederickson

and citizen participation in decision making
Choose the correct answer from the options given below :
(0 (A0, (B)-(OL), (C)-(0), (D)-{IV)
(2) (A1), (B)-0). (C)-1m), (D)-(1V)
3) (A1), (B)-(ID), (O)-1), (D)-{1V)
(4) (ALY, (B)-(LD), (C)-(LD), (D)-(I)

Options 1. 1

4.4

Question Type : MCQ
Question ID : 53307217258
Option 1 ID : 53307267237
Option 2 ID : 53307267238
Option 3 ID : 53307267239
Option 4 ID : 53307267240

Status : Answered

Chosen Option : 1

Q138 ppose the correct statements given below :
(A) NATO is a security pact created for the defence of US led Western Countries
(B) Warsaw pact was created by Soviet Union and its allies in response to NATO
(C) SAARC was created for the security of South Asia
(D) ASEAN is a Security Organisation
(E) European Union was created for the security of Europe
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (A), (B)and (©) Only
(@) (A), (B), (C) and (D) Only

(4 (O, (D) and (E) Only
Optio 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 53307217214
Option 1 ID : 53307267061
Option 2 ID : 53307267062
Option 3 ID : 53307267063
Option 4 ID : 53307267064

Status : Answered

Chosen Option : 1
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(&)
(B)
©
(D)
(E)

()

2

G)

(4)

Options 1. 1
2.2

p

Q139 Arrange the following events related to India’s Foreign Policy in ascending order.

Indo-US Nuclear Deal
Gujral Doctrine
Panchasheel
Panchamrit

Look East Policy

Choose the correct answer from the options given below :

©) (B), (D), (A), (B)
©), (B), (A), (B), (D)
(B), (C), (B), (A), (D)
©), (B), (B), (A), (D)

Question Type : MCQ
Question ID : 53307217223
Option 1 ID : 53307267097
Option 2 ID : 53307267098
Option 3 ID : 53307267099
Option 4 ID : 53307267100
Status : Answered
Chosen Option : 4
140 : . .
ds gIven 2 € e O s
Q140 Who h the concept of Integral Huma ?
(1) Pandit Deendayal Upadhyay
(2) Swami Vivekanand
(3)  Aurobindo Ghosh
(4) Rabindranath Tagore
Optio 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 53307217197
Option 1 ID : 53307266993
Option 2 ID : 53307266994
Option 3 ID : 53307266995
Option 4 ID : 53307266996
Status : Answered
Chosen Option : 4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...

78/88



9/12/24, 1:44

PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/172560113...

Comprehension:

Read the following passage and answer the questions given below :

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR. Waltz himself contributed to the
classical brand of Realism with his “Man, the State and War’ (1959) which echoed Morgenthau’s and
Carr's treatment of IR as a never-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in

international relations the idea of the system is all important.

SubQuestion No : 141

S

Q.141

According to Waltz what does he mean by system,

(1) System is an ideological construct

(2) System is run by a powerful country

(3) System does not follow any order

(4) Unit individual states do the same thing
Options 1. 1

2.2

3.3

Question Type
Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

:MCQ

: 53307217268
: 53307267273
Option 21D :

53307267274

: 53307267275
: 53307267276
: Answered

Chosen Option :

4
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Q.142

Comprehension:

Read the following passage and answer the questions given below :

international relations the idea of the system is all important.

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR. Waltz himself contributed to the
classical brand of Realism with his “Man, the State and War’ (1959) which echoed Morgenthau’s and
Carr's treatment of IR as a never-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in

SubQuestion No : 142

According to Waltz which system is better to prevent the war.

(1

)

(3

(4
Optionl 1
2.2

3.3
4.4

)

)
)

Bipolar system
Multipolar system
Unipolar system
Unit Veto system

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307217267
53307267269
53307267270
53307267271
53307267272
Answered

1
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Q.143

Comprehension:

Read the following passage and answer the questions given below :

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR. Waltz himself contributed to the
classical brand of Realism with his “Man, the State and War’ (1959) which echoed Morgenthau’s and
Carr's treatment of IR as a never-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in
international relations the idea of the system is all important.

SubQuestion No : 143

Who has written the book ‘Man, the State and war’ ?
(1) Kenneth Waltz

(2) E.H. Carr

(3) Morgenthau

4) Edward Said

Option 1 ID
Option 2 ID

Question Type :
Question ID :

: 53307267261
: 53307267262
Option 31D :
Option 4 ID :
Status :

Chosen Option :

MCcQ
53307217265

53307267263
53307267264
Answered

1
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Q.144

Comprehension:

Read the following passage and answer the questions given below :

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR. Waltz himself contributed to the
classical brand of Realism with his “Man, the State and War’ (1959) which echoed Morgenthau’s and
Carr's treatment of IR as a never-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in

international relations the idea of the system is all important.

SubQuestion No : 144

What was the time frame of the evolution of Neorealists ?

(1) 1950’s
(2) 1960’s
(3) 1970's
(4) 1990’s

Options 1. 1

2.2
s
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
53307217266
53307267265
53307267266
53307267267
53307267268
Answered

3
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Comprehension:

SubQuestion No : 145

Q.145 ; :
Who is not realist ?

(1) E.H. Carr

(2) Morgentheu

(3) Kenneth Waltz

(4) Robert Keohane
Options 1. 1

2.2
3.3

v

Read the following passage and answer the questions given below :

The debate between the Neorealists and the Neoliberals emerged in the 1970's and developed over
the next two decades into the major theoretical controversy within IR. Waltz himself contributed to the
classical brand of Realism with his “Man, the State and War’ (1959) which echoed Morgenthau’s and
Carr's treatment of IR as a never-ending series of conflicts among states trapped in a condition of anarchy.
Twenty years later, Waltz published his theory of International Politics (1979) in which he sought to
explain the causes of wars. The structural realism is captured in the concept of the balance of power.

This system is where we need to focus our attention because its all constituent units perform the
same functions in that system, regardless of where they are located in the system, their ideology and
culture. Waltz argues that bipolar systems are more stable than multipolar systems. According to him in
international relations the idea of the system is all important.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
53307217269
53307267277
53307267278
53307267279
53307267280
Answered

4
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Comprehension:

Read the following passage and answer the questions given below :
Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state to apply these principle
in making laws’. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 365 against such recalclriant stale. Sir Ivor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of ‘Fabian Socialism without the Socialism’ Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part IV, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi

language. These instructions are not part of DPSP but carry the same value.

SubQuestion No : 146

Q.146 The Chairman of the Drafting Committee Dr. Ambedkar observed about directive principles, “Lf
any government ignores them, they will certainly have to answer for them before the electorate at
the time of election.”

What does he mean by this abservation :
(1) It is unethical

(2) Itisillegal

(3) ltis political

(4) It is philosophical

Options 1. 1

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217273
53307267289
53307267290
53307267291
53307267292
Answered

1
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Comprehension:

Read the following passage and answer the questions given below :
Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state to apply these principle
in making laws’. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 365 against such recalclriant stale. Sir Ivor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of ‘Fabian Socialism without the Socialism’ Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part IV, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi

language. These instructions are not part of DPSP but carry the same value.

SubQuestion No : 147

Q147 Which Article instructs the government to incorporate directions given under the Directive Principles
in formulating the policies ?
(1)  Article 37
(2)  Article 365
(3)  Article 35
(4),  Article 51

OptionJ
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217275
53307267297
53307267298
53307267299
53307267300
Answered

1
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Comprehension:

Read the following passage and answer the questions given below :

Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state to apply these principle
in making laws’. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 365 against such recalclriant stale. Sir Ivor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of ‘Fabian Socialism without the Socialism’ Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part IV, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi
language. These instructions are not part of DPSP but carry the same value.

SubQuestion No : 148
Q.148 Which article of Directive Principles was brought into fundamental rights through 86th amend ment
of the Constitution ?

(1) Right to Education of Children Art. 45
(2)  Article 48 Slaughter of Cows
(3)  Article 47 Prohibition of Alcohol

(4)  Article 51 International Peace
optiong 1
2.2

3.3

4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCcQ
53307217272
53307267285
53307267286
53307267287
53307267288
Answered

1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/17256011300694008/...

86/88



9/12/24, 1:44 PM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083024300/2083024300S29D240657/172560113...

Comprehension:

Read the following passage and answer the questions given below :

Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state te apply these principle
in making laws’. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 365 against such recalctriant state. Sir [vor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of *Fabian Socialism without the Socialism” Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part [V, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi
language. These instructions are not part of DPSP but carry the same value.

SubQuestion No : 149

Q.149 Who proclaimed that the Directive Principles of State Policy is an attempt to import Fabian Socialism
without Socialism ?
(1) B.R. Ambedkar
(2} J. Nehru
(3)  Sir Ivor Jennings
(4) Motilal Nehru
Options 1. 1
.
.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

MCcQ
53307217271
53307267281
53307267282
53307267283
53307267284
Answered

3
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Comprehension:

Read the following passage and answer the questions given below :

Directive principles are not enfoceable by the courts. The sanction behind them, is political.
As Dr. Ambedkar observed in the Constituent Assembly, “If any government ignores them, they will
certainly have to answer for them before the electorate at the election time”. DPSP is a part of the
Constitution. Article 37 unequivocally enjoins that ‘It shall be the duty of the state to apply these principle
in making laws’. Hence it should be competent for the Union to issue directions against particular states
to introduce compulsory education for children Article 45, to prevent Slaughter of Cows (Art. 48),
prohibition of alcoholic drinks Art (47). In case of refusal to comply with such directions issued by the
Union, it may apply Art 365 against such recalclriant stale. Sir Ivor Jennings characterised DPSP “Pious
Aspiration” and also questioned the utility of importing it into India of the 19th Century, English
Philosophy of ‘Fabian Socialism without the Socialism’ Granville Austin considers these directives to be
“aimed at furthering the goals of the social revolution”, Besides the Directives contained in part IV, there
are certain other Directives addressed to the state in other parts of the Constitution. Art 350 A enjoins
every state and every local authority within the state to provide adequate facilities for instructions in the
mother-tongue at the primary stage of education. Art 351 enjoins to promote the spread of the Hindi
language. These instructions are not part of DPSP but carry the same value.

SubQuestion No : 150

Q.150 Who said “Directive Principles are merely furthering the goal of Social Revelution” ?
(1) B.R. Ambedkar
(2) G. Austin
(3) Ivor Jennings
(4) D.D. Basu

Options 1,
.2

3.3
4.4

Question Type : MCQ
Question ID : 53307217274
Option 1 ID : 53307267293
Option 2 ID : 53307267294
Option 3 ID : 53307267295
Option 4 ID : 53307267296

Status : Answered

Chosen Option : 2
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